MATHS

BOOKS - NTA MOCK TESTS

JEE MOCK TEST 15

Mcgs Math

. If x, y and =z are in AP and

1 1

tan 'x,tan 'y and tan !z arealso in AP, then

A. x=y=z


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bGUnLBedhHEf

B. x=y=-z

C. x=1,y=2,z=3

D. x=2,y=4,2=6

Answer: A

o Watch Video Solution

2. f 7 i=2r j=4i kand || =84

then the value of 7 - (2’2 — 35+ l%) may be

° Watch Video Solution



https://dl.doubtnut.com/l/_bGUnLBedhHEf
https://dl.doubtnut.com/l/_r9UKbys8nMFk

3. If
A={x € R:|z| <2} and B={z € R:|x — 2| > 3}
, then

AANB= (-2, — 1)

BBB—A=R-(—2,5)

CAUB=R-(2,5)

DA-B=]-1,2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WvV0Pty8j32A

4.0n which of the following intervals is the function

2'% + sinz — 1 decreasing?

f(05)

B. (0, 1)

c (3.9

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JfNXOXHDRYJp

5. The area bounded by the graph y=[x-3], the X-axis

and the lines x=-2 and x=3 is ([.] denotes the greatest

integer function)

A.7 sq. units

B. 15 sq. units

C. 21 sq. units

D. 28 sq. units

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tfWZY2BBTZ1S

3.2n+1 . 4.5n+1
6. lim =
n— 00 5.2" + 7.5"
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5
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T

C2O
ST

D.O

Answer: C

° Watch Video Solution

7. Let function F be defined as

z
f(:c):/ e7dt:13>0 then the vaiue of the
1


https://dl.doubtnut.com/l/_EIY4NOvAePDu
https://dl.doubtnut.com/l/_e3MJFTQHOvBX

1 t
integral / € _dtwherea > 0is
1 t+a

A e’[F(z) — F(1+ a)]
B.e “[F(x + a) — F(a)]
C.elF(z +a) — F(1+a)]

D.e “[F(x +a) — F(1+a)]

Answer: D

o Watch Video Solution

8. The sum of the squares of deviation of 10
observations from their mean 50 is 250,then

coefficient of variation is


https://dl.doubtnut.com/l/_e3MJFTQHOvBX
https://dl.doubtnut.com/l/_wJrmvVldDU4p

A. 25

B. 50

C.10

D.5

Answer: C

° Watch Video Solution

9. 2.The number of ordered pair(s) (xy) satisfying y =

2 sinx and y = 5x* + 2x + 3 is equal to-

A.O


https://dl.doubtnut.com/l/_wJrmvVldDU4p
https://dl.doubtnut.com/l/_hxLP8Lv81pNF

B.1

C.2

D. infinite

Answer: A

° Watch Video Solution

10. If

g(z) =z +z+ 2z — 1 and g(f(z)) = 42> — 10z + 5
5
then find f(Z)

A3
2


https://dl.doubtnut.com/l/_hxLP8Lv81pNF
https://dl.doubtnut.com/l/_dZJNENOUJAe1

Answer: B

° Watch Video Solution

11. The tangents to z? + y? = o’ having inclinations
a and B intersect at P. If cot acot 8 = 0, then find

the locus of P.

Az +y=0


https://dl.doubtnut.com/l/_dZJNENOUJAe1
https://dl.doubtnut.com/l/_hHKfQWdBQU1a

B.x —y=20

Czy=20

D. none of these

Answer: C

° Watch Video Solution

12. Which of the following is logically equivalent to

~(-p — q)?

ApAq

B.q A\ ~q


https://dl.doubtnut.com/l/_hHKfQWdBQU1a
https://dl.doubtnut.com/l/_lYIGvvOoam0P

Answer: D

° Watch Video Solution

13. The number of different terms in the expansion of

(1-— :1:)201(1 +z + 332)200 is

A. 200
B. 201

C. 202


https://dl.doubtnut.com/l/_lYIGvvOoam0P
https://dl.doubtnut.com/l/_u2virSxIX7Z6

D. 402

Answer: D

° Watch Video Solution

14. The angle of elevation of an object on a hill is
observed from a certain point in the horizontal plane
through its base, to be 30°. After walking 120 m
towards it on a level groud, the angle of elevation is
found to be 60°. Then the height of the object (in

metres) is

A.120


https://dl.doubtnut.com/l/_u2virSxIX7Z6
https://dl.doubtnut.com/l/_8OcSM3Ovsvr2

B.60,/3
C.120,/3

D. 60

Answer: B

° Watch Video Solution

15. If a,B8 are the roots of the equation

z? — 3z + 4 = 0, then the equation whose roots are
a—2 -2

: is
a+2 [+ 2

ATz —1=0


https://dl.doubtnut.com/l/_8OcSM3Ovsvr2
https://dl.doubtnut.com/l/_TqjF1CsNH3us

B.7z2+1=0

C.7z°+2=0
D.7z2 —2 =0
Answer: B

° Watch Video Solution

16. If y = Acos(logz) + Bsin(logxz) then prove
d2 dy

that z°— + z— =
awdm +mdw+y 0.

Ay


https://dl.doubtnut.com/l/_TqjF1CsNH3us
https://dl.doubtnut.com/l/_UrXGgiEpP2ti

D. —2y

Answer: B

° Watch Video Solution

17. If z be a complex number satisfying
|z — 4 4 8i| = 4, then the least and the greatest
value of |z + 2| are respectively (where i = /—1)

A.7 and 16

B.8 and 17


https://dl.doubtnut.com/l/_UrXGgiEpP2ti
https://dl.doubtnut.com/l/_hAwitnbgOzye

C.6and 14

D.5and 13

Answer: C

° Watch Video Solution

18. A perpendicular is drawn from a point on the line

rz —1 y+1 z
5 :_—1:Tto the plane z +y+ 2z =3

such that plane = —y+2=3. Then, the

coordinates of Q are

A. (2,0,1)

B. (-1,0,4)


https://dl.doubtnut.com/l/_hAwitnbgOzye
https://dl.doubtnut.com/l/_Fy8EwwBrx6QC

C. (4,0,1)

D. (1,0,2)

Answer: A

° Watch Video Solution

19. The general solution of the differential equation

dy  sin(z+y) sin(z—y)
S = IS

dx 2 a 2
A. In tan (%) —=c— 2sinx
B.In tan (%) :c—2sin(§)
C.int (y+7r) — ¢ — 2]
.In tan 5 1 =c sin X


https://dl.doubtnut.com/l/_Fy8EwwBrx6QC
https://dl.doubtnut.com/l/_QjzSZuLUqvNo

1) = 2in(3)
D.Intan(4-|—4 c — 2sin 5

Answer: B

o Watch Video Solution

20. The number of value of z € [0,2] at which

f(z) =

differentiable at

1
a:—§|—|—|x—1|+ta,na: is not

° Watch Video Solution



https://dl.doubtnut.com/l/_QjzSZuLUqvNo
https://dl.doubtnut.com/l/_ZE0GLgquMJwq

21. Find the number of ways in which four distinct
balls can be kept into two identical boxes so that no

box remains empty.

o Watch Video Solution

22. A bag contains b blue balls and r red balls. If two
balls are drawn at random, the probability drawing
two red balls is five times the probability of drawing
two blue balls. Furthermore, the probability of
drawing one ball of each color is six times the

probability of drawing two blue balls. Then

° Watch Video Solution



https://dl.doubtnut.com/l/_x4CY0yPGnDvH
https://dl.doubtnut.com/l/_9UFpt7leMoA7

23. If the maximum and minimum values of the

determinant

2 2

1+ sin“ x Ccos“ x sin 2x
sin® z 1+ cos?z sin 2z are a and S
sin? cos? 1 + sin2x

respectively, then a + 20 is equal to

° Watch Video Solution

24. The equation of the common tangent to the
curves y? = 4z and z? + 32y = 0 is

x + by + ¢ = 0. the value of


https://dl.doubtnut.com/l/_9UFpt7leMoA7
https://dl.doubtnut.com/l/_puQwseNBbflB
https://dl.doubtnut.com/l/_qnumd01MQpOq

‘sin_l(sin 1) + sin~ '(sinb) + sin_l(sinc)‘ is

equal to

° Watch Video Solution

—1
25'I:/ = :"’4\/i+2+0’
4/ -1 +2)°

then 'k is equal to:

@ >
Wk A w W w R

0

o



https://dl.doubtnut.com/l/_qnumd01MQpOq
https://dl.doubtnut.com/l/_eIOPkPN5z3vY

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eIOPkPN5z3vY

